SHIF>EMARE

<SHI[F2&MA>SHTAHEI7-48-6

BAZE T ER (20256~) [%1-31]
EE 4= ot
12:50 ~ 14:20 HE=E
6/7 (L) 681EA
14:30 ~ 16:00 HE=E
12:50 ~ 14:20 HE=E
6/21 (1) 682E B
14:30 ~ 16:00 HE=E
12:50 ~ 14:20 HHE=E
7/5 (%) 781E B8
14:30 ~ 16:00 HHE=E
12:50 ~ 14:20 HE=E
7/19 (1) 782E8
14:30 ~ 16:00 HE=E
12:50 ~ 14:20 HHE=E
8/2 () S8H1[EH
14:30 ~ 16:00 HE=E
8/16 (%) KB (BPRKRA) XmEIX8H30B (8AE51IER)
12:50 ~ 14:20 HE=E
8/30 (1) 8 A2[EH
14:30 ~ 16:00 HHE=

X% 8/16(DEXHBRARAITEY, KBELGYET, MR X8 A ESLES/30DFETY,
% 8/30(1)IX8AESTEATY A, 8/16(E )R ELDHBEITLET,

FiE T E R (20256~) [$2-41])

e R 21p2 BRTE
6/14 (%) 13:20 ~ 14:50 THE= 68 1EH
6/28 (%) 13:20 ~ 14:50 PHE=E 6A2EH
7/12 (%) 13:20 ~ 14:50 THE= 7A1EE
7/26 (%) 13:20 ~ 14:50 PHE= 7A2EE

8/9 (%) 13:20 ~ 14:50 HHE= 8H1[EB
8/23 (%) 13:20 ~ 14:50 PHE= 8H2[E B




